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INSTITUTE OF USN
TECHNOLOGY

Internal Assesment Test - 11
Sub:  SOFTWARE ENGINEERING Code:  15C$42
Date: | 08/05/2017 = Duration: 90 mins Max Marks. 50 | Sem: 4(A,B,C,D) @ Branch: CSE
Answer FOUR FULL questions selecting AT LEAST ONE question from each part
OBE

Marks 5 RgT

PART A
1(8) A program specification states that the program accepts 4 to 10 inputsthat are [5]  CO5 L3
five-digit integers greater than or equal to 10,000. Show equivalence partitions
and possible test input values.

(b) Explain Requirements-based testing with the help of an example. [5] CO5 L3
OR
2(a) Explain variousinterface types and interface errors. [8] CO5 L2
(b) Differentiate between verification and validation. [2] CO5 L1
PART B
3(3a) Explain testing process with the help of aneat diagram. [8] CO5 L2
(b) Define test-driven development. [2] CO5 L1
OR
4(a) Explain software re-engineering with the help of aneat diagram. [6] CO4 L2
(b) Explain maintenance cost factors that result in high cost of maintenance. [4] CO5 L2
PART C
5(a with the help of aneat diagram, explain software evolution process. [7] CO5 L2
(b) Define three types of maintenance. [8] CO5 L2
OR
6(8) Whatisprogram evolution dynamics? Explain Lehman laws. [248] CO5 L2
PART D
7(a) Differentiate between milestones and deliverables. [2] CO5 L1
(b) Draw aneat diagram to explain project planning process. [8] CO4 L2
() Explain COCOMO-II model with aneat diagram [10] CO4 L2
OR
8 From the information given in the table, draw
(@) Bar chart/Gantt chart [10] CO4 L3
(b) Staff allocation chart [10] CO4 L3
Task Effort (person-days) Duration (days) Dependencies
T1 15 10 -
T2 8 15 -
T3 20 15 T1(M1)
T4 5 10 -
T5 5 10 T2, T4 (M3)
T6 10 5 T1, T2 (M4)
T7 25 20 T1(M1)
T8 75 25 T4 (M2)
T9 10 15 T3, T6 (M5)
T10 20 15 T7, 78 (M6)
T11 10 10 T9(M7)
T12 20 10 T10,T11 (M8)
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Sub: | SOFTWARE ENGINEERING Code: 15CS42
Date: 08/05/2017 = Duration: 90 mins Max Marks: 50 = Sem: 4(A,B,C) Branch: CSE
Answer FOUR FULL questions selecting AT LEAST ONE question from each part
OBE
Marks |"c5 TrBT
PART A
1(a) A program specification states that the program accepts 4 to 10 inputs that are  [5] | CO5| L3
five-digit integers greater than or equal to 10,000. Show equivalence partitions
and possible test input values.
No. of inputs: (2.5M)
Less than 4: 3
Between 4 and 10: 4, (5or 6 or 7 or 8 or 9), 10
Greater than 10: 11
Input values: (2.5M)
Less than 10000: 9999
Between 10000 and 99999: 10000, 50000 (or any other), 99999
Greater than 99999: 100000
(b) Explain Requirements-based testing with the help of an example. [5] | CO5| L3
Requirements based testing: (1M definition, 4M example)
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2 (@) Explain various interface types and interface errors. [8] CO5 L2
Interface types (4M)
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(b) Differentiate between verification and validation.

Verification (1M) Validation (1M)
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PART B
3(a) Explain testing process with the help of a neat diagram

Diagram (6M) Explanation of diagram (2M)
P A ==
[} \& _;Q .

= T
P i

' fndld D0 L84 - LLpada POV o 1Y) - Lifd e A A o)

l oL L f, =~ A A 'l
(b) Define test-driven development.
Definition (2M)
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4 (@) Explain software reengineering with the help of a neat diagram. [6]
Software Reengineering diagram (6M)
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(b) Explain maintenance cost factors that result in high cost of maintenance. [4]

Maintenance cost factors (4x1M)
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PART C
5(a) With the help of a neat diagram, explain software evolution process. [7]

Diagram (5M) Explanation (2M)

Page 3 0f 9

CO4

L2

CO5

L2

CO5

L2




Fau0d g e ,‘-A_’_.u“'_-i;“).;. Aoy ' P T YLLIOT W, el
(

The  cost and '.Mf:ad* n’L Fmeosa.J d\/\amdq o aucesded.
O} Han puopased  chanmges are accepted ,  a WALQMALZX{
e systemn b Pamned . Dualing arlease pww:i,dx_
propased clamges C faukk Acpair adaptatiom |, andd vewo
/\—\.w\d; Ye) aw comslderech . Adecision s Hicu smade
on Wi (JAAma,..; o \W\GM M e next  \reusion
db Hae Aa-s‘\'«wx Tha C/WA (RN \\M—P\C.\MMCA amd voli*clades
o waad viasion of, e dysdena (4 naleased . e proces
Mo i resakes wilh A v &CJPKG fJAnAAae_b PhoPmd
L Hae mext  sulease .

(b) Define three types of maintenance. [3]

Types of maintenance (3x1M)
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6 (@) What is program evolution dynamics? Explain Lehman laws. [2+8]

Program evolution dynamics definition (2M) Lehman laws (8x1M)
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PART D
7(a) Differentiate between milestones and deliverables.
Milestones (1M) Deliverables (1M)
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(b) Draw a neat diagram to explain project planning process. [8]
Diagram (6M) Explanation (2M)
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(c) Explain COCOMO-II model with a neat diagram [10]

(Diagram 6M) Explanation (4M)
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8 From the information given in the table, draw
(@) Bar chart/Gantt chart
(b) Staff allocation chart
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Task Effort (person-days) Duration (days) Dependencies
T1 15 10 -
T2 8 15 -
T3 20 15 T1(M1)
T4 5 10 -
T5 5 10 T2, T4 (M3)
T6 10 5 T1, T2 (M4)
T7 25 20 T1(M1)
T8 75 25 T4 (M2)
T9 10 15 T3, T6 (M5)
T10 20 15 T7, T8 (M6)
T11 10 10 T9 (M7)
T12 20 10 T10, T11 (M8)
Bar chart (10M)
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Staff allocation chart (10M) — It may be different for different students based |

on subjective selection
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